

Introduction

Hemwati Nandan Bahuguna Government Post Graduate College Khatima was established on August 1988. The college is located in a tribal belt of Udham Singh Nagar Uttaranchal. It offers degree courses in Science as well as in humanities. P.G. courses are being offered in five streams of science namely Physics, Chemistry, Botany, Zoology and Maths. In Humanities Post Graduate courses are being run in Economics, Political Science, History, English and Hindi. Total strength of the college is touching 4000 mark.

The college has its own building and recently a new blocks has been constructed to run a professional course i.e Yoga. The college also possesses a large play-ground, a multipurpose hall and indoor facilities for various activities. It also has a rich library which caters to the need of large number of students.

The details of the Institution and its infrastructural facilities are given as under.

Particulars of the institution

Name of the Institution (in capital letters)

Hemwati Nandan Bahuguna Government Post- Graduate College . (Khatima)

Complete Postal Address [As mentioned in the Affidavit] (Strike out/ Leave blank any of the following which is not applicable)

	Village/10wii		Miaulia	
	Post office		Khatima	
	Tehsil/Taluka	-	Khatima	Town/City
Khat	ima			
	District		Udham Singh Nagar	State
	Uttarakhand			
	Pin Code		262308	STD Code 05943
	Telephone No		250339	Mobile No. 9412037401
	Fax No.		E-Mail	ID
	hariomprakash(@rec	diffmail.com	
	Whether the insti	itutio	on is for (tick in the box)	
	Boys		Girls	
Yes 1	No Whet	ther t	the Institution is a Minorit	y institution

Vhotimo

Type of Management (Please tick only one out of the following)

(i) A Govt. institution Government Institution

(Attach documentary proof issued by the Govt. concerned)

(ii) A Govt.-aided institution

Villago/Town

- (iii) A university department
- (iv) A deemed to be university Pvt/ Govt.
- (v) A self- financing private institution
- (vi) Any other, please specify.
 (Please attach supporting documents. In case of institutions financed by Central Govt./State Govt./UT Admn. to the extent of not less than 50% of their recurring cost, a certificate to this effect

from the Government concerned.)

Details of courses run by the institution.

Sl. No.	Name course/	of the programme	Level of the	Duration of the	Year of starting of	Affiliating I	Body
			course	course	the course	Name	Date of Affiliation
01		Eco	U.G	03	22-08-1988	Kumaun University	18-07- 1987
	B.A.	Hindi	U.G	03	22-08-1988	do	18-07- 1987
		English	U.G	03	22-08-1988	do	18-07- 1987
		Pol. Science	U.G	03	22-08-1988	do	18-07- 1987
		Geography	U.G	03	22-08-1988	do	18-07- 1987
		Education	U.G	03	22-08-1988	do	18-07- 1987
		History	U.G.	03	1-07-1993	do	16-06- 1993
02	n c	Maths	U.G	03	01-07-1996	do	20-11- 1996
	B.Sc.	Physics	U.G	03	01-07-1996	do	20-11- 1996
		Chemistry	U.G	03	01-07-1996	do	20-11- 1996
		Zoology	U.G	03	01-07-1996	do	20-11- 1996
0.2		Botany	U.G	03	01-07-1996	do	20-11- 1996
03	M.A.	Eco	P.G.	02	01-07-1994	do	22-02- 1995
		Hindi	P.G.	02	01-07-2004	do	27-08- 2004
		English	P.G.	02	01-07-2004	do	27-08- 2004
		Pol. Science	P.G.	02	01-07-2004	do	27-08- 2004
	3.5~	History	P.G.	02	01-07-2004	do	27-08- 2004
04	M.Sc.	Maths	P.G.	02	01-07-2005	do	27-08- 2004
		Physics	P.G.	02	01-07-2005	do	27-08- 2004
		Chemistry	P.G.	02	01-07-2005	do	27-08-

						2004
	Zoology	P.G.	02	01-07-2005	do	27-08- 2004
	Botany	P.G.	02	01-07-2005	do	27-08- 2004

Specification of Rooms and other infrastructural facilities

S.No	Description		Room No.	Length In meter	Breadth In meter	Carpet area in sq. meter
1	2		3	4	5	6
1	Class Room	Pending construction of the building, Classes	One	8	8	64
2	Class Room	will be run in Yoga building	One	8	8	64
3	Multipurpo	ose Hall	One	28	15	420

S.No	Description			Room No.	Length In meter	Breadth In meter	Carpet area in s	q.
1	2			3	4	5	6	
4	Multipurpose Room			One	7		U	
5	Seminar room	room	/tutorial	One	10.5	8	84	
6	Principal Roo	m		One	8	5.25	42	
7	Administrativ	ve off	ice	One	8	7	56	
8	Store Room			One	7	6	42	
9	Sports Store	Room	1	One	8	7	56	
10	Girls Commo	n Ro	om	One	9	6	54	
11	Boys Commo	n Ro	om	One	9	6	54	
12	Art & Crafts Room			Pending infrastr		ı , It will	be run in existir	ng
13	Music Room			Pending infrastr		ı , It will	be run in existin	ng
14	Socially Usef Work (SUPW			Pending infrastr		ı , It will	be run in existin	ng
15	Science		s Lab		12	7	84	
	Lab1		m Lab		14	8	112	
16	Science		Lab		14	8	112	
	Lab2		Lab		10.5	8	84	
17	Psychology la	ıb						
18	Educational (ET) /ICT La	Teo b	chnology	Pending infrastr	g construction ructure	n , It will	be run in existir	ng
19	Workshop		Pending infrastr		ı , It will	be run in existir	ng	
20	Any other Ro	om/E	Iall	NCC	8	7	56	
21	Toilets (i) Male		One	4.2	3.2	13.44		
	(ii) Female		One	4.2	3.2	13.44		
22	Geography Lab			One	7	6	42	
23	Digital Lab		01	One	8	8	64	
			02	One	8	8	64	
24	N.S.S.	l		One	3	4.5	13.5	
25	Computer		Theory	One	3	4.5	13.5	

S.No	Description		Room	Length	Breadth	Carpet area in sq.
			No.	In meter	In meter	meter
1	2		3	4	5	6
		Lab	One	4.5	4.5	20.25
26	B.A/ M.A	01	One	10.5	8	84
	Classrooms	02	One	10.5	8	84
		03	One	10.5	8	84
		04	One	10.5	8	84
27	Economics depart	ment	One	6	5	30
28	Chemistry departs	ment	One	6	5	30
29	Physics department		One	8	3.5	28
30	Physics dark room		One	8	3.5	28
31	Yoga Lab		One	21	17	357
32	Canteen		One	11.2	4.7	52.64

Instructional Facilities

				Library
1	2	4	4	Total Area (In Sq. ft.)

Manpower

Academic and Non-Academic Staff (Applicable for existing institutions)

Details of Academic Posts available at present

Name of	the Nu	mber Pay Sc	ale	Filled	Vacant
Post	of	Post			
Principal	01	1640-2	22400	01	Nil
_					
Lecturer	25	8000-1	3500	12	13
		10000	-15200		
		12000	-18300		

Details of Non-Academic Staff available at present

Name of the Number Pay Scale Filled Vacant		
--	--	--

Post	of Post			
Librarian	01	8000-13500	Nil	01
Office Superintendent	01	4500-7000	01	Nil
Junior Clerk	01	3050-4590	01	Nil
Lab Assistant	08	3200-4900	04	04
Electrician/ Mechanic	01	3050-4590	01	Nil
Lab Bearer	05	2550-3200	02	03
Peon/ Class IV	04	2550-3200	04	Nil

Arrangement for Games and Sports

Details of availability of playgrounds

Sl.	Number	of	Length in meter	Breadth in meter	Area in sq mt.
No.	Playgrounds				_
01	01		62	174.5	10819

(Format of affidavit to be given on Rs. 100 stamp paper duly attested by Notary Public)

(In terms of provision of NCTE (Recognition Norms and Procedure) Regulation 2005 as amended to time to time)

AFFIDAVIT

I, **Dr. N.D. Murari** (Name of the authorized person) son of **Late Sri G.D. Murari** and **Principal** of the **H.N.B. Government P.G. College Khatima** (name of the College / Institution / Trust / Society, etc.) aged about **59** (**Fifty Nine**) years, resident of **Jagdamba Nagar Bhotiaparo**, **Haldwani**

, am the authorized signatory of the application made to the Regional Committee of the National Council for Teacher Education at Bhopal/Bhubaneshwar/Jaipur/Bangalore

seeking grant of recognition / permission for conducting a course in Teacher Education titled C.Ed./ D.Ed./ B.El.Ed./ B.Ed./ B.Ed(ODLS) M.Ed/ M.Ed(ODLS)/ M.Ed(Parttime)/C.P.Ed./ B.P.Ed/ M.P.Ed. with additional intake of 200.

- 2. That the **H.N.B. Government P.G. College Khatima** Society / Trust / Institution / College (strike out whichever is not applicable) is in possession of land as per the following description:-
 - 2.1 Total Area (in sqr. Mts.) **18756.40**
 - 2.2 Built up Area (in sqr. Mts.) **3342.2**
 - 2.3 Address: H.N.B. Government P.G. College Khatima

Plot No:

Khasra No: 1041/2 & 1042/1 Village/Town/City: Khatima District: Udham Singh Nagar

State: **Uttarakhand**Area in Square Meters:

Bounded by

North: Road to GGIC Khatima

South: Forest Land
East: GGIC Khatima
West: Forest Land

Registered in the office of ---- Government Land

- 4. That the land is free from all encumbrances.
- 5. That the land is exclusively meant for running the education institution (land use) and the permission of the Competent Authority to this effect has been obtained By Government.
- 6. That the said premises shall not be used for running any educational activity/institution, other than the teacher education programme for which recognition is being sought.

7. That the copy of the affidavit shall be displayed on the website of the Institution for general public.

8. I do hereby swear that my declaration under Para's(1) to (6) are true and correct and that it conceals nothing and that no part of this is false. In case the contents of affidavit are found to be incorrect or false, I shall be liable for action under the relevant provision of the Indian Penal Code and other relevant laws.

Signature:	

Name of the Applicant Dr. N.D. Murari

Address: H.N.B. Government P.G. College Khatima

Tel : 05943- 25039

E-mail address : hariomprakash@rediffmail.com

Website address :

Place: Khatima
Date:28-05-2008